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Day 1: Solving Quadratic Equations by Graphing & Factoring Chapter 6: Quadratic Applications

Task 1: |nvestigating [low to Solve bq Graphing and Factoring

° Use the DESMOS to graph the Parabola. Just Provicle a sketch on the paper, showing the zeros.
o (Jsethe graph to determine the zeros.

U ]:actor the equation according to the type of exPression (common, simple, tricky, difference of squares).

Standarc]
E_ci uation

Z eros/Solutions/
X—] nterce Pts

Graph Factored E_ciuation

ﬂ=xz-8x+ 12

(l |O) and (61‘3 U"(_X" 9—)(K _6 )

-9-8-7-6-5-4-3-2-1 ‘E) R? 3 :4 BIT 39 oe-
=4 _E_ _v { 2’ b‘}

(-:}’D) and (7‘0) ?(X ‘L:DCX"?‘)
ok

qg= X =49
J-%) i
(-316) and (0,0)
= x(%+3
9= X"+ 3% 987654 N2 /M 12345673 : ok d X (x )
{-29
J-.?xlﬁx—fs I
(-30) and (%0 L erg3 b A
y=2x +5x-3 ] Ok el 2x-)¥2x)

e 7 LR 3-31 ié} = (2N (x+7)

Wl’lat is the relatlonslﬂp between the Leros/solutlons/x~mtcrcePts and the factors?

Whea you equal the foctor Ho 9eco o solve i, &gu +find he_ Zeras [x-in.
[int: if the Factorwas (x= 6), what would the correspondmgzero be” ‘_’___0 l X-—

IF the Factor was Xx, what wou]cl the corresponclmg zZero be” X‘O

if the factor was (Zx 5) what would the corresPonc{mg zero be? 9“)‘ 3=

ﬂ-)'-’v-_?
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Task3: 5olving, Quadratic F quations by Factoring Practice

. Solve each quadratic cciuation 53 Fac’coring. Follow along the steps in the first two examPles.

a. xz+7x+ 12=0
5/mp/c trinomial °

(x ++)x+3)=0

X+4+=0 x+3=0 °

x=-4 and x=-3 (]

. X' =8x+16=0

(xt{-'D(x-q) =0
X-4=0 F-4=o0
x={ x =Y

{L«j or X=4

g x"-16=0
x+D(xY) ="
"4 2 .o
X+4=0 x-4=

X="4 @
S 3-u,u8

Mlnr*’
b ,-8 'ql-q

factor the exPression as
aPProPriate (common, simp]e,
trickg, difference of squares)
set cach factor equal to zero
solve ecach of these equations

‘FOF X.

d. 6x* +9x=0

b. ioxX +8x=0

commor )[gactor/’n‘g
Zx(jx + 4} =0
2x=0 Sx+4+=0
Sx =
x=0 and x= -3

GCF=3X

3x(,‘2x+3)=°
e/ \9 -3

-3
3x=2 2+3 = O
3 3 =3
x.-.-‘Or A
- 'E‘f
, {-3 0}
¢ . 'I)
fo4x’—4x+1=0 M A [
{yt-23¢=2x+1 =0 4 1 l-2,-2

Ax(ax-1)=-(Ax)=2

(-ngl)(ﬂy-o =7

-l=o
5

VA

Not‘c: SOmetimes, you will need to Put your equations into standard form first before you factorit.

LAX -2 =~ Tx 4

Collect all He +erms

Ity Ae-2-Y =0 & whee the [{Qd"'@ im0 =9t

'.s f)o-:'e.\ldﬂ- .

x4 I -b =©

Wt-Ax+qAx-b = ©
x (bx-2) +3(3x2) =

(px-2) (% +3) =0

)

dx-2=0
x=2

A
N Sf ?,12/,:3

Xt3=0

™ Factor e 'dej tel

AX | O | N
-1g 3|72/

J- +f><-(‘>‘< + 1) =9+ 4x ?Du_,(ﬁf‘aﬂd)
Collect Herms LS
a,huz-Cl-w-"D 5imlol?‘£‘p
4y -9 =9 Fector DS
Qx+3)(2x-3)=o
I
Ixtleo Ax-3 = O
2)( -:"3 st_- f
-2 X= /2._
Y= /2.
- %_ g! _-_7_,}
- < 2
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1 (r—4)r+1)=0 2) Ba-2)a+2)=0
r-yzo v+l =0 - Ae-2=©0 atlce _
r={ r=-1 i- , ﬂ 3ﬂ=2' Q:’Z ? 2" 2/33
=24
3) (h— S)(b+2 =0 4) dn+1)4n-5)=0
S t+=0 Un-5~<
b z’_:;_') ? j Zinqn'! nm‘:: ) | 12
l -j "Vq n=% T 4
5) (p+5)(2p71)=0 6) (x—5)(x-4)=0
5= 2p-] -0 -5 -(=° =
1>-fi%f: f2f=: ZT‘Z%J s Ty ?Lm
N —Tn+12=0 P 8) a* —4a—32=0
@—3)0\"‘4)—-_0 .'.q) q_g - O ~
n=3 n=y iS,QJ (qarg q)=2’ §%8—§
9) 2 +10r+21=0 10) v =3v—-10=0
(rt3(+*)=0O = (V12X -5)= o
11) m? +2ng 0 12) x* —64=0
m(m+2 O
m=9 M+l=3 E--‘Zlfj (¥ng_,;? =& <<= ?‘_8 3}
- ez a e T
13) p>—6p=0 14 a>-4=0
Plp-b)=© 0 G (@ +2Xa2D==
fp._P \“‘—3P b=0 {“J at1=20 Q-2=°2 ?‘2,2}
L Q--2 Q=2
15) 3v? +31—§g. Urs 16) 377 —)27 0
2(vr4v-29)=0 v-Ui=2 "‘f’ 3r*-9) = (Mizo rr-3==
3C\/ Ll)(\/ .;.'5") O V=YY @ 3(r—tﬂ(r-:0- J r=-3 r=213
MA _ _ 3'3,‘3‘3
17) 5v’ -2v-7=0 -3 57 18) 5a*-2a=0

a(§5q-2) =©

BV ASy-Fu -t =0

Ev(v*l) vt == :S vils ©
(D (5929 = =l 2

19) 3n* + 1ln—4= sl ’4/3 20) Sn*+483n+24=0 (a0
- n+lln Y=o _&l"_\.. P adn+tlot W = O 2 o‘qsl 3,40
a(30-D44(30-1) = O RN nn+3)+&86Gat)= =

B3n-D(n+4) <0 GoaeDnt8) =2 %g’ 'ij
5

Dnl= - o . 5""] -l‘j Ontl-o nt§-o
‘ n=1/3! | 0= ( 3 u-:sa (=77
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21.7m* —13m—24=10
Foat-)m+8m -y =0
Fon(m- 3) +§(m-3=o
(m-2)(Fm+8) = O
M.’{sga ?\t’\n-i-gt’o

\ m-ﬂ lM-—-."a{a:l
Tk
23.5x%*+12x—9=0

Oy -3y 1% -9 =9
¥(5%-3) 435 <0
(G- (x3) =©
3=0 ¥+3=0

K= x=

>3

25. 7p —4p =0
("ﬁv -y) =0
’,P o ?f)-‘.[—/o
=Y
7.

{0: q/ﬂ

27. —4x% + 5x — 15 = —5x2 — 1 collet teran

DUy 43X <15+ | =0
x> 4Sx-ly =9

(\(-93(?‘ t1) =9

x-2=O X¥*F==

()

29 3x? 4+ 8x=—2x — 214+ 2x°

Iy 48 w2 LU =0
xT+ 10y 4| =

&)(x+1) = ©
X4d=0 x+t1+=2
X—-PB X ==

:‘i- -37‘

22.5k*—3k=0

M |A U__ ECF:- Lk
159 I-u.l gl k(ve-2) =0
(63 ko GlL-2=0
2 |2y k=
3 [5¢ %
4 (uz .
frarsd - §0%]
El WA
\? 1 2 -
___24. 15+ —4r —3 =0

l’j‘r"'—‘fr+5r—3 =0
Y (5r-D+ (50-3) =
(Be-D(3r+1) =0

E—-%:C? B+l =0
=Y T4

{-%3' ,3/3-}
M| | P

M| N

26.8x2—15x+7 =0
3)3'- Ex - + =0
8x(x-1) -F(x-1) =o
(x-)(8x-F) =©

x-l=©O 83 =2 -2
R

) < )
28. —b= +11b + 30 = —2b-
F-brtllb+30 = O
Lr+llb+30 - O
L+5)t6) =O
b+‘i‘-0 L+6 =0
lL:- Z L=-6 f
- Tesy
30.—7a* —13a + 49 = 7 = 8a’
Ra-Fa-12a+u9-+ =0

on LS

a*-l2a+U2 =-o !
6,7
(O—GD@\-—?‘)-_O
a=6 a="1
T Fé"?j Page 4 of 4



